ZWARE 2 FOND HAFO VLAAMS-BRABANT

VLUCHT
M. | P. |sp.| B |un| H. | L Joas|as.
IDATUM 3 6 1010|1010 10] 10| 15
x 0,0 =
NAAM X 0,25 =
x 0,45 -
TRAAT - 0.05 =
x 1,05 -
PLAATS X 4,45 -
X 9,45 =
LICENTIE PRy
X 34,45 -
) x 54,45 -
ICoordin. - 79.45 =
x 129,45 -
- DIV x 22945 =
POT X =
BON X =
INLEG X =
I I I “SKOSTEN X =
JAARDUIVEN DUBBEL X =
6 U|TS|iAG X =
M. | P. |Sp.| B. [Un.| H. | L. JOAS]A.S.
m 36 ]10]10]10]10]10]10]15 TOTAAL
010 Ik x 0,0 =
[ o015 P X 0,25 =
7 020 B x 045 =
Tos0o B X 095 =
1100 JE x 1,95 =
1250 |G X 445 -
5,00 K4 x 945 =
I I Y1000 B x 19,45 =
V15,00 I8 x 34,45 =
2000 x 54,45 =
< Jes.00 X 79,45 =
50,00 X 129,45 =
1100 [ DIV x 22945 =
POT X -
BON X =
INLEG X =
“BKOSTEN X =
@ JONGE DUIVEN DUBBEL X =
UITSLAG X =
M. | P. |Sp.| B. [Un.| H. | L. JOAS]A.S.
36 ]10]10]10]10]10]10]15 TOTAAL
010 Ik X 010 =
los B X 025 -
1020 B x___045 -
050 X 095 =
1100 B x 1,95 =
1250 I8 x 445 =
15.00 K x 945 =
Y1000 IE x 19,45 =
V15,00 B x 34,45 =
J20,00 x 54,45 =
T25.00 x 79,45 =
J50.00 x 129,45 -
100 [ DIV X 229,45 =
) POT x =
4 BON X =
INLEG X =
“BKOSTEN X =
DUBBEL X =
BUITSLAG X =
TOTAAL




